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B.AJ/B.Sc. Ist Semester (General) Examination, 2018 ( CBCS)

ASP-1/Economics/CC-IA/GE-1/18

Subject 1 Economics
Paper : CC-1A/GE-1

(Microeconomics)
Time: 3 Hours Full Marks: 60

The figures i the right hand margin indicate fuell marks

Candidates are required to give their answers in their own words
as far as practicable.
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L. Answer any ren questions: 2x10=20
@ A P 2o 6w We
(a) What do you mean by utility?
afee Eviafere wwte A @RI
(b} What is meant by consumer’s surplus?
e Tyw qEe B @RE
(¢) What is marginal rate of substitution?
aife sifaader vz @
(d) What 1s the shape of average fixed cost curve?
e FFzam @R ugfe &y
t¢) What do you mean by returns to scale in production?
TeAn wee Afena aere & @
(f) What 1s a Giffen good?
w&f forem v dv
(2) Disunguish between money wage and real wage.
yifde 153 ¢ #re TgI | AN favie @@
(h) What is the cause behind the linear shape of an indifference curve?
aofs frarers am sEtafe wgfen s are &
(1) What 1s a production function?
gafs TedAa wreprs R
(j) Give two features of a perfectly competitive market.
7 aferafionee araraa 4t tafe®y e
(k) What is meant by monopoly?
ST AR 0T F @A
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1))

What is scarcity rent?

. =
il.":""-l:. ST S 85?

(m) State the factors determining the demand for loanable fund.
TR RRET SRRz Sommef 361 o)
(n) Give an idea of internal and external economics of scale.
T AREER WErER ¢ I I Ferwreiw gz ma |
(0) Define Pareto optimality.
ARG Beifoamfaty wwem we
2. Answer any four questions: Sx4=20

& A 5EG AT Tew vie e

(a)

(b)

(c)

(d)

(e)

()

What is indifference curve? Explain briefly the properties of indifference curve. 1+4=5
FrTAel a1 S fmteree @R @R Sow e sl

Give an idea of market demand. Explain the way by which market demand curve is drawn
with the help of individual demand curves, 1+4=5
ETIITE SIRAE <& 4ol 7le | s slm @iel e Sere 2o SIRATR S
9 W O Y T

What will be the shape of AC curve when MC always assumes zero value? Derive the
MPL and APL curve from total product curve of labour and bring out the relationship
between them. 1+2+2=5
T MC 43 T AR 4 70 ©UR AC @AF SRt & 3R wmy @ S @ @
T TR @1 R =t ¢ = W wiE orare

What is rent? Explain. in brief. Ricardian Theory of Rent. 1+4=3
el S e Rend e Tl morme @ =@

What is profit? Explain Risk and Uncertainty Bearing Theorv of Profit.

T F7 e 972 TRecTEl 1T WeEl oel DRy )

What is revenue? Establish the relation among average revenue. marginal revenue and price
elasticity of demand.

@fefE Fr ow @SS, afte @ERT vat armm s wuse Rfegerrsr g T

21’.691- *ran)

3. Answer any fwo questions: 10x2=20
@ (@A 7o A T=g e g

(a)

How do you define price elasticity of demand? How will you measure price elasticity of
demand at a point on the demand curve? What will be the value of price elasticity of demand
at the midpoint of a linear demand curve? 2+7+1=10
sifzara v Ffogorrens gf Freng swie Ta3? 93l 5ifen @ue 7S Rege Som
sifEimE wiaeTs Zfegimsi sifams T ¢ weaca s sitw @ nafers e Rfeneres
= &



(3]

ASP-1/Economics/CC-IA/GE-1/18
(b) Distinguish between “short run” and “lon

g run” concept for production planning. Explain
g - i 2+8=10
erage cost curve of a firm.

TR AR A @ TSI T AL | G FIE AISEA eI

the method of derivation of long run av

- ; S > wilibri afi or perfect competition.
(¢) Explain the method of determining short run equilibrium of a firm under p Fé+2= o
What is meant by excess capacity?

i oo aremE avf wintt TR SRE fmsieE E s e | w ke
T IS @R 2

] i i of trade union in determining
(d) Mention factors which determine real wage. Expla.u.l .the rolc:k i
wage rate and employment of labour in a competitive market. +8=10
(<)

#ge WoAl el @ @ Betmmel Sre | afsrirerEs amE wfie fe e
TR R wfte e i aam st




